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A Joint Hindu family according to the Mitakshara Law consists of a male member of a family with his
sons, grandsons and great-grandsons according to Hindu Law. They collectively constitute a
coparcenary of a Hindu Family. They are different from members who are not coparceners as we
have seen earlier. This is of course under the old law prior to the amendment made by the Hindu
Succession (Amendment) Act, 2005. After the above amendment, A Joint Hindu family can consist of
male as well as female members since female members have also acquired the status of coparcener
as per the said amendment. Thus now, members of a Hindu Joint family consists of the common
ancestor and all his lineal descendants upto any generation including the wife/wives (or widows) and
daughters of the common ancestor. A coparcenary is however a narrower body of persons within a
joint family. It consists of four successive generations of lineal descendants as we have seen above.
As per the provisions of Section 2 of the Hindu Succession Act, 1956, the Act applies

1. To any person, who is a Hindu by religion, in any of its forms or developments including a
Virashaiva, a Lingayat or a follower of the Brahmo, Prarthana or Arya Samaj

2. To any person who is a Buddhist, Jaina, or Sikh by religion; and

3. To any other person who is not a Muslim, Christian, Parsi or Jew by religion unless it is proved
that any such person would have been governed by the Hindu law or by any custom or usage
as part of that law in respect of any of the matters dealt with herein if this Act had not been
passed.

It may be noted that the phrase "HUF" has been used in the Statutes with reference to all the schools
of law including Mitakshara, Dayabhaga and others and not to any particular school of law. See in
this regard the decision of Privy Council in the case of Kalyanji Vithaldas vs CIT (1937) 5 ITR 90(PC).
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